Installation Instructions

Z4-SERIES SEISMICFRAME FRONT-TO-REAR CABLE MANAGER

Included Hardware:

M6 X 16 Hex Screw, 8 ea.
M6 Hex Nut, 8 ea.

Tools Required:
10mm Wrench

Installation Instructions:

1.

Install Front to rear seismic cable manager into the rail (Fig. 1).

M6 X 16mm
Hex screw

Front to back
inner manager

FR to RR cable
manager bracket

M6 Hex nut

Front to back
outer manager
Fig. 1
Seismic cable manager

The Front-To-Back manager is available in the 800mm wide cabinet. The
vertical Rail must be installed first, with the backs facing each other. See

callout 1 (Fig. 2).
Install FR to RR cable manager bracket into the rail by using M6X16mm

Hex screw with M6 nut (Fig. 2).
Rail

M6 Hex nut

M6 X 16mm
Hex screw

1

"~ Front side of
the cabinet

FR to RR cable
manager bracket in
installed condition

Rail should be positioned with
the bottom edge at or below the
rail pass-through openings.
Fig. 2
Cable manager
bracket installation

GI CHATSWORTH PRODUCTS

[1S-714485, 03/28/14, Rev. 1, CPI/BMO
800-834-4969 (USA & Canada) « www.chatsworth.com ¢ techsupport@chatsworth.com

For international phone numbers, see our website or contact CPI Tech Support.

This drawing contains proprietary and confidential information and is protected by U.S. and international law. Unauthorized reproduction, disclosure or use of the drawing
or the information therein is expressly forbidden except as agreed to in writing by Chatsworth Products, Inc.

Page 1 of 2




Z4-SERIES SEISMICFRAME FRONT-TO-REAR CABLE MANAGER

4. Assemble the two brackets to the approximate length with the M6 X 16mm 6.

Hex screw with M6 nuts. Leave the screws loose during installation to
accommodate length adjustment. Tighten screws to approximately 88 in-
Ibs. [9.9 N-m] after installation. See callout 2 (Fig. 3).

Front to back

M6 X 16mm
Hex screw

Inner and outer
manager is installed
condition.

‘: /W Front to back
// outer manager

M6 Hex nut

° Fig. 3
Front to back inner and outer
manager installation

5. Mount the manager to the inside of the rails and pass-through opening
(Fig. 4).

Manager should be positioned with the bottom
edge at or below the rail pass-through opening.

Y ;f&)‘gij’ N\ \
X

Fasten the manager into the FR to RR cable manager bracket using
M6X16mm screw and M6 nut (Fig. 5). Torque to approximately 88 in-Ibs.
[9.9 N-m].

Front to back
inner and outer
manager.

FR to RR cable
manager bracket

M6 X 16mm
— Hex screw

M6 Hex nut

Page 2 of 2




